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SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 1,000 2,000 21,000
01 = LH o4 1l 1,000 2,000 A 1,000
Ottt R85 82 A& 1,000
308 XtXIEHHSOIA 57,500 59,000 A 1,500
01 AXHHILEES 30,000 31,500 A 1,500
Ost===4tFHelE 2K 30,000
08 WEIIZ20HetE = 27,500 27,500 0
OXZ 4t S AH K& 27,500
403 XIS E X201 E 1,514,750 150,000 1,364,750
Xl 1,460,000
< 54,750
01 AXSHMA2E = 1,514,750 100,000 1,414,750
OdtelHEA Helgla =4 145,250
X 140,000
< 5,250
Oogel SEXAIE dE(ts2 8 632,875
Xl 610,000
< 22,875
Ooolg 2 A (2&32l) 363,125
X 350,000
< 13,125
OdldsHA =4 373,500
Xl 360,000
< 13,500
FAS2INESRSAEXA(KA) 150,000 383,000 A 233,000
308 XXM SO0 A 10,000 38,000 A 28,000
01 AXHHBISEES 10,000 38,000 A 28,000
O=x=&2 ekt E5XE 10,000
403 A X EHS =0l A 140,000 345,000 A 205,000
01 X EHHM A= E L 140,000 345,000 205,000
OZ Al JIEAIE XI& 80,000
OO0l dsUHE ANLEXH 60,000
SMFBHY 2 BY 6,350 6,350 0
201 Let2d] 3,500 3,500 0
03 &Ar2 I 3,500 3,500 0
Ox=¢ZEM golsl s 29 3,500
203 ¥ S =&l 2,850 2,850 0
03 AIF=XH 2 =AH| 2,850 2,850 0
Ottt =4 2,850
SN2 AHIEX X 60,000 38,000 22,000
308 XX EHHSOIA 60,000 38,000 22,000
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01 IXNHHBANEES 60,000 38,000 22,000
Ozx=42 AHI=EE XA 60,000
Hgolnssddllsla 1,320,000 160,000 1,160,000
= 1,320,000
307 21201 A 1,160,000 0 1,160,000
= 1,160,000
02 IAFAAFEX 1,160,000 0 1,160,000
O=&H DNUEHS NA(BSZ2Y) 1,160,000
= 1,160,000
308 XX EHSOIA 160,000 160,000 0
= 160,000
08 WEII20HetE = 160,000 160,000 0
O=&H DWSHE3 X 160,000
= 160,000
TAHEXNE =4 HEX 765,000 765,000 0
= 680,000
< 85,000
308 X XIEHHSOIA 765,000 765,000 0
= 680,000
< 85,000
01 AXHHILEES 765,000 765,000 0
OXHECXNG =&X=H AL 765,000
= 680,000
< 85,000
Hg 25, 22 6,450,885 7,260,241 809, 356
= 4,906,050
< 1,544,835
A2HOH N 2= 4,023,250 5,086,750 ~ 1,063,500
= 3,628,000
< 395,250
201 Let24d] 10,000 20,000 A 10,000
= 10,000
01 At 22l 10,000 20,000 A 10,000
OZoHoe 2F3EI+==+2 10,000
= 10,000
301 LEtE L= 714,000 962,000 A 248,000
= 714,000
1M1IIEBEAS 714,000 962,000 A 248,000
2ol XA 714,000
= 714,000
308 XtXIEHH SO0l A 3,211,250 4,016,750 A 805,500
= 2,860,000
< 351,250
01 AXHHILEES 3,211,250 4,016,750 A 805,500
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O2fH& H& X8I 50,000
= 50,000
Odotd 2K 3,161,250
= 2,810,000
& 351,250
403 ItXIHXM S K201 88,000 88,000 0
= 44,000
& 44,000
02 BII2SHCHSCHE AL I 88,000 88,000 0
OHOH S & Ef = A 88,000
= 44,000
< 44,000
Hg X XsHelB2sHd XE 985,800 651,000 334,800
= 795,000
& 190,800
403 MtXISH M S K201 985,800 651,000 334,800
= 795,000
& 190,800
01 XIS A2 X 985,800 651,000 334,800
Ooxsz2g s484XA 985,800
= 795,000
& 190,800
HEHS K& 542,570 515,570 27,000
308 X SHXSOoIH 382,570 332,570 50,000
01 AXHNBMNEXZ 382,570 332,570 50,000
ONMY A28z KA 332,570
OXHS Q2= =ZItALEl =04 50,000
403 XtXISHH S K201 160,000 174,000 A 14,000
01 XX SHMAA2E X 160,000 174,000 A 14,000
Ogeol HEX)) 22 100,000
OHEZEAHHI| KA 60,000
HEXNEeHd 29 261,300 256,800 4,500
201 LEt2 Y| 185,000 185,000 0
01 AFR2t2l bl 25,000 25,000 0
ogrdzd 25,000
02 352494l 160,000 160,000 0
O332=2 2 HA 34,000
O« et = Xl 126,000
202 O B 21,800 21,800 0
01 2L Y| 5,000 5,000 0
OHYXNE L Aty X 5,000
02 AN Y| 16,800 16,800 0
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@l g 25, 22 (Gt &)
- _ _ RE]
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OHY X Ectx 16,800
401 Al HI L E0HHI 50,000 50,000 0
01 Al&H| 50,000 50,000 0]
O RN ETH HEI|22lhl 50,000
405 XHAHFE S HI 4,500 0 4,500
01 XA 2 ZF S| 4,500 0 4,500
OHE RN =AY 4,500
X HAEA 2 13,000 11,700 1,300
= 10,000
& 3,000
308 XAXIGHSO0lI& 13,000 11,700 1,300
= 10,000
& 3,000
01 HXHHBIMNEXS 13,000 11,700 1,300
OYXHAA-C 13,000
= 10,000
= 3,000
NSSHAAKRFEZEUH XS 386, 100 305,590 80,510
= 297,000
o= 89,100
403 XX SHHM S X201 A 386, 100 305,590 80,510
= 297,000
= 89,100
01 XS AS2E X 386, 100 305,590 80,510
Olgsd d2HH A& 386, 100
= 297,000
& 89,100
HSAHSHS X (HE2HITHAILE XIH) 40,000 40,000 0
308 XHXIEH SOl A 40,000 40,000 0
01 AIKISHHEMNEX= 40,000 40,000 0
OFSEY T XA A2HICHEAINE K& 40,000
oHItel P HAY 100,000 200,000 A 100,000
= 100,000
308 XNXIGHHSO0l& 100,000 200,000 A 100,000
= 100,000
01 IXHHNIMNEXS 100,000 200,000 A 100,000
Odltel FHMAF 100,000
= 100,000
HAAELD WEAIAE 2= 98,865 0 98,865
= 76,050
o 22,815
403 XX SHHMS K201 A 98,865 0 98,865
= 76,050
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= 22,815
01 R SH X2 % 98,865 0 98,865
ONSAD HPAAY RS X & 98,865
2 76,050
< 22,815
=MTE B2 .54 27,785,133 29,034, 191 A 1,249,058
= 15,785,000
Xl 7,212,000
= 4,396,133
£ 392,000
AR EE Y 348,000 413,000 A 65,000
308 XX EHHSOIA 48,000 48,000 0
01 HXNHHBHELS 48,000 48,000 0
OHBME 2HAE 48,000
403 UtXISHHSA=0l& 300,000 365,000 A 65,000
01 XM A=2E X 300,000 365,000 A 65,000
oy &3diMde 300,000
== DJ|BtxE 4 354,500 204,000 150,500
= 125,000
< 229,500
403 MtXISHE X201 E 354,500 204,000 150,500
=2 125,000
< 229,500
01 AXSHMA=2EE 354,500 204,000 150,500
OU==H MEHH wnetds & X 68,000
OU=2 HFeetd =4 40,000
OU=d 0L R XA 24,000
OU==HLANE JlgtAIE 30,000
OU=8 HHAAMAIEZ & 30,000
OE HE=AML 162,500
= 125,000
< 37,500
o HAAIDIEtE A 15,647,033 14,362, 466 1,284,567
= 13,201,000
Xl 168,000
< 2,278,033
308 XAHXIEHH SOl A 9,880,000 10,190,000 A 310,000
= 9,200,000
S 680,000
01 HIXNHHNBMNEES 9,880,000 10, 190, 000 A 310,000
OSFHoHX S X & A 9,200,000
= 9,200,000
O MaXd 430,000
OJFelLAFEHAFT X 30,000
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OLal =42 Hl2EE 2 K& 220,000
403 A X EHHS =0l A 5,767,033 4,172,466 1,594,567
=2 4,001,000
Xl 168,000
= 1,598,033
01 X HHMA=LE L 5,767,033 4,172,466 1,594,567
OFEE NMRER i o SAAM 400,000
= 300,000
< 100,000
OHIOHS 0 ST MAAIL 400,000
= 300,000
= 100,000
O E=ZHHeE sS44I 100,000
OZeduuX 23 3,627,733
=2 3,401,000
< 226,733
O= E&FAE X 300,000
OLAAHE JIBtAIE XI& 80,000
OFHE N& =4 300,000
Odfat M8 X8 X8 220,000
O2al Al - JIX T K& 50,000
OZs2ANE s &H 174,300
Xl 168,000
< 6,300
OltSUHE OlsAlstEA EX AEAY 15,000
OJtFeldAT dSAZHMEAL X 100,000
SUHEAIE 4,442,000 5,002,500 A 560,500
X 3,554,000
= 496,000
£ 392,000
401 A& HIZ 201 Y| 3,922,000 4,525,000 A 603,000
X 3,138,000
< 392,000
£ 392,000
01 A& HI 3,916,000 4,518,710 A 602,710
OUBAHEZAAEAY 3,916,000
Xl 3,133,200
< 391,400
£ 391,400
03 Al 2 THHI 6,000 6,290 A 290
OSUHEAEA 6,000
Xl 4,800
< 600
£ 600
403 RXISH S X =0l & 520,000 477,500 42,500
Xl 416,000
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< 104,000
02 S| 2SO CHEHCHE AL B 520,000 477,500 42,500
Oz & 2el 300,000
X 240,000
< 60,000
Oolszgxd 220,000
Xl 176,000
< 44,000
SAEZ 2CAY 1,875,750 2,530,700 A 654,950
Xl 1,630,000
< 245,750
403 MtXISHHE A0l & 1,875,750 2,530,700 A 654,950
Xl 1,630,000
< 245,750
01 XM A=2EE 1,745,750 2,345,000 A 599,250
O==&SEMY = 1,446,750
X 1,286,000
< 160,750
OHRSUEZLF ALY 50,000
OINRINIX =T (SHat) =4 249,000
Xl 240,000
< 9,000
02 S| 2SO0l CH&HCH & A Bl 130,000 185,700 A55,700
OZZE IS WAL 130,000
Xl 104,000
< 26,000
A0 B 1,831,125 1,027,125 804,000
Xl 1,630,000
< 201,125
308 XX EHSOIA 1,525,125 1,027,125 498,000
X 1,470,000
< 55,125
01 HIXNHHBNEES 1,525,125 1,027,125 498,000
O2ANE d3t 186,750
Xl 180,000
< 6,750
ogAFIYZ &X 1,305,175
Xl 1,258,000
< 47,175
OLAHEXNSSAIE £X 33,200
Xl 32,000
< 1,200
403 XIS E X201 & 306,000 0 306,000
Xl 160,000
< 146,000
01 X SHHXN2E = 306,000 0 306,000
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OdEclNEFANE =4 166,000
Xl 160,000
< 6,000
onzaeld X 40,000
oA M2 AIEXE 100,000

HSFH2ESXE 19,000 35,000 216,000
= 19,000

403 TtXI M SA=01A 19,000 35,000 A 16,000
= 19,000

01 X SHHX2E = 19,000 35,000 216,000
One==2x 25X 19,000
= 19,000

HAIE EFOHE ALY 475,625 200,000 275,625
= 210,000
X 230,000
< 35,625

403 TUXISHHSA=01H 475,625 200,000 275,625
= 210,000
Xl 230,000
< 35,625

01 HASHH =R E 475,625 200,000 275,625
OSAIE &3 At 210,000
= 210,000
OJIF2lHAIEH &did 27,000
Ol &JtFelHAIE AFAILEE X 134,875
Xl 130,000
= 4,875
OINFAXNUSEAE 2= SAIE 103,750
Xl 100,000
& 3,750

HE FH ALY 20,000 0 20,000
= 20,000

403 TtXI M S A =01 A 20,000 0 20,000
= 20,000

01 X2 E X 20,000 0 20,000
OfIlMS(HEZ)F M ALY 20,000
= 20,000

AMMS (%) FHAY 41,300 35,400 5,900
= 35,000
= 6,300

308 XXM SO0IH 41,300 35,400 5,900
= 35,000
[ 6,300

01 HIAHHBdEES 41,300 35,400 5,900
Ol = (%) HAL 41,300
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= 35,000
< 6,300

SR (AE) &4 1,430,800 1,302,000 128,800
= 1,175,000
< 255,800

403 MtXISHH S =0l & 1,430,800 1,302,000 128,800
= 1,175,000
< 255,800

01 XM A2EE 1,430,800 1,302,000 128,800
SELAHR(2AY) 54 1,430,800
= 1,175,000
= 255,800

o HITHS & =48 MY XI& 1,300,000 3,900,000 22,600,000
= 1,000,000
< 300,000

403 XSS X201 & 1,300,000 3,900,000 A 2,600,000
= 1,000,000
< 300,000

01 X SHHA2E = 1,300,000 3,900,000 A 2,600,000
Oget Hit=2&E ZdAY X3 1,300,000
= 1,000,000
< 300,000

ofg e 18,073,848 20,594,427 A2,520,579
2 52,800
Xl 15,276,000
< 2,745,048

2oie A4 15,347,048 18,966,000 A 3,618,952
Xl 13,373,000
< 1,974,048

401 AIEHI L 2CHEI 15,347,048 18,966, 000 A 3,618,952
Xl 13,373,000
< 1,974,048

01 A& HI 15,322,810 18,936,000 A 3,613,190
OXgolg A4« 15,022,810
Xl 13,353,610
< 1,669,200
OXgolg JIz & AANEHES 300,000

03 Al 2 THHI 24,238 30,000 A5,762
OXgolg A4 24,238
Xl 19,390
< 4,848

ESENY 425,000 0 425,000
Xl 350,000
< 75,000

403 XIS E A0l E 425,000 0 425,000
Xl 350,000
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< 75,000
01 XM A=2EE 425,000 0 425,000
OHESE MY 425,000
X 350,000
< 75,000
o222 500,000 395,000 105,000
403 A X EHHS 20l A 500,000 395,000 105,000
01 X EHHMAZLE L 500,000 395,000 105,000
Oang Bx22 X 500,000
HEMEOIS=Z 368,800 803,427 AN434,627
= 52,800
Xl 280,000
< 36,000
308 XX EHSOIA 50,400 0 50,400
= 50,400
01 HXNHHNBNEES 50,400 0 50,400
OWENELS AIRZE XHE XI& 50,400
= 50,400
403 XHXISHAIS X2 0| & 318,400 803,427 485,027
= 2,400
Xl 280,000
< 36,000
01 XXM 22 = 318,400 803,427 A 485,027
OEHMENs =4 316,000
X 280,000
< 36,000
OWENELE DEsHAY 2,400
= 2,400
ASO{HOIYI| &R 576,000 430,000 146,000
Xl 512,000
< 64,000
403 MtXISHHE X201 & 576,000 430,000 146,000
Xl 512,000
< 64,000
01 XM A=2EE 576,000 430,000 146,000
OAgold 1)l &X 576,000
X 512,000
< 64,000
HEAZEHYZIIRS M3 94,500 0 94,500
Xl 84,000
< 10,500
403 A X EHHS 20l A 94,500 0 94,500
Xl 84,000
= 10,500
01 X SHHMA=E L 94,500 0 94,500
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OdXE HEFIIZS £X 94,500
Xl 84,000
< 10,500
2&w AX 486,000 0 486,000
Xl 432,000
< 54,000
403 XIS E X201 H 486,000 0 486,000
Xl 432,000
< 54,000
01 X SHHX2E= 486,000 0 486,000
Of&n &X 486,000
Xl 432,000
< 54,000
HEJIBAIE &X 276,500 0 276,500
X 245,000
S 31,500
403 Mt SHHSA=0l& 276,500 0 276,500
X 245,000
< 31,500
01 X SHMA2E X 276,500 0 276,500
OWEJIEAIE &X 276,500
Xl 245,000
= 31,500
HREs (40 26,520 0 26,520
HEHHX= 26,520 0 26,520
ANLoHeAL NI & 26,520 0 26,520
705 ==& cl 34 26,520 0 26,520
04 Al - SXHMHLI S0l =0l Kt &t &t 26,520 0 26,520
OXgoigrAsd XL &8 26,520
HAY2AZ Yl (=4 90,600 90,600 0
Jl2Z3l 90,600 90,600 0
JlE2&l 90,600 90,600 0
201 Let24E] 43,200 43,200 0
01 At 2t 2l 43,200 43,200 0
OxM8E A2EX 43,200
202 odl 43,200 43,200 0
01 S LHOIYI 43,200 43,200 0
SMEE QI EX 43,200
203 YR =&l 4,200 4,200 0
04 RENSELRZ=LH 4,200 4,200 0
O==4tt 4,200




